A TRAME rowlite

BY BARRON LIGHTING GROUP

IMPORTANT SAFEGUARDS
READ AND FOLLOW ALL SAFETY INSTRUCTIONS.

» Equipment should be mounted in locations and at heights where it will not be readily subjected to tampering
by unauthorized personnel.

» The use of accessory equipment not recommended by the manufacturer may cause an unsafe condition.
» Any modification or use of non-original components will void the warranty and product liability.
» Do not use this equipment for other than intended use.

SAVE THESE INSTRUCTIONS!

Technical Support m (623) 580-8943 m technicalsupport@barronltg.com

AG-FRAME ASSEMBLY PART LIST

ITEM QTY DESCRIPTION

1 2 AG FRAME Strut channel 13/16" X 1-5/8" X 48"

— 2 2 AG FRAME Strut channel 13/16" X 1-5/8" X 24"
3 4 AG FRAME Corner bracket, 3 holes

Tool needed for 4 12 Nut, 1-5/8" Strut channel, 1/4-20 thread
""T;/’ assembly: 7/16” wrench 5 8 1/4-20 X 3/4" Hex bolt

6 12 1/4" X 1" OD Flat washer, EG
7 4 Eyebolt with nut, 2" long, 1/2" ID, 1/4-20 thread

‘BARRON
40070028 REV 1 - 02/20

lighting group
1 800-533-3948 www.barronltg.com



AG-FRAME

Installation Instructions

~—1.06 —

rowlite

BY BARRON LIGHTING GROUP

48.0 (4 FT)

1. Slide channel nuts (Item #4) into the channel ends (ltem #1) to the locations shown.

1.06
T
\ \
) J
( (
\ \
\ \
\ \
{, — — — — — — \ — — — N —
@ \ \
\ \
\ \
\ Yoo /
7 7
{ (
1 T
\ \
\ \ ! '
\ \
7 2
s
[ { § 1
;i%i \ \ @:
\ \
\ \
o—=° o——=2°
o— —9 ) ) c— —©°
o— n - o
2

40070028 REV 1 - 02/20

‘BARRON

lighting group
800-533-3948 www.barronltg.com



A TRAME rowlite

BY BARRON LIGHTING GROUP

2. Slide channel nuts (Item #4) into the channel ends (ltem #2) to the locations shown.

24.0 (2 FT)
2.69 2.69
.81 —= f—2381——

\\ \\

\ \

) )

{ {

\\ \\

T 1 _ A _ _ _ _ _ o \ _ D) _ B @ [
@ @ \ \ N\
\ \
/ | )] )
7

Y\ Y\

\ \

\ \
7 2

\ \

\ \

\ \

) )

‘BARRON

lighting group
3 800-533-3948 www.barronltg.com

40070028 REV 1 - 02/20



AG-FRAME rowl |te

Installation Instructions BY BARRON LIGHTING GROUP

3. Place channels with channel nuts on a flat surface as shown.

o

o] o]
BARRON

lighting group

40070028 REV 1 - 02/20 4 800-533-3948 www.barronltg.com



AG-FRAME rowlite

Installation Instructions BY BARRON LIGHTING GROUP

4. Assemble corner brackets to channels with Hex bolts and washers as shown.
Screw bolts into the channel nuts that are in the channels.

‘BARRON

lighting group

40070028 REV 1 - 02/20 5 800-533-3948 www.barronitg.com



AG-FRAME rowl |te

Installation Instructions BY BARRON LIGHTING GROUP

5. Assembly Complete.

® © © @ @j
© ©
© © @i
® © © @ |
&2 =9
BARRON

lighting group

40070028 REV 1 - 02/20 6 800-533-3948 www.barronitg.com



